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You can prepare for NetApp NS0-506 exam with little effort because Lead2pass is now at your service to act as a guide to pass

NetApp NS0-506 exam. Our NetApp NS0-506 braindumps are rich in variety. We offer NetApp NS0-506 PDF dumps and NetApp

NS0-506 VCE. Both are the newest version.  Following questions and answers are all new published by NetApp Official Exam

Center: http://www.lead2pass.com/ns0-506.html  QUESTION 518 You have a host that loses connectivity to a LUN after a volume

is moved from one node to another in the cluster. You verified that it is not a cluster or a switch problem. Which two actions will

help determine the problem? (Choose two.) A.    Verify that MPIO and ALUA are enabled. B.    Verify that the SnapDrive version is

supported for the host and Data ONTAP version. C.    Verify the HBA timeout setting. D.    Verify that the SANtricity Storage

Manger version is supported on the host.Answer: AC QUESTION 519 You have a host with multiple initiator ports attaching to a

single SAN LIF. With this setup, which action is required? A.    You must use host multipathing software. B.    You must use an

individual SAN LIF for each initiator port. C.    You must use a portset. D.    You must use a SAN LIF failover group. Answer: A

QUESTION 520 Which two flags would you use to enable NetApp thin provisioning on a LUN? (Choose two.) A.   

&shy;space&shy;reserve enabled &shy;space&shy;allocation enabled B.    &shy;space&shy;reserve enabled

&shy;space&shy;allocation enabled C.    &shy;space&shy;reserve disabled &shy;space&shy;allocation disabled D.   

&shy;space&shy;reserve disabled &shy;space&shy;allocation enabled Answer: AC QUESTION 521 In a new SAN installation,

which three components do you verify in the IMT for a supported solution? (Choose three.) A.    HBA driver B.    host memory C.   

host OS patch level or Service Pack D.    application patch level E.    switch firmware Answer: ACE QUESTION 522 You have an

iSCSI host that is unable to connect to an SVM named svm1 over a LIF name lif1. The home node and port of lif1 is port e0e. The

event log show command displays the error ISCSI: network interface disabled for use; incoming connection discarded. Which

command would you use to resolve the problem? A.    vserver iscsi create &shy;target-alias svm1 &shy;status-admin up

&shy;vserver svm1 B.    broadcast-domain add-ports &shy;broadcast-domain iscsi &shy;ports cI01-01:e0e C.    network interface

modify &shy;vserver svm1 &shy;lif lif1 &shy;failover-group Default D.    iscsi interface enable &shy;vserver svm1 &shy;lif lif1

Answer: D QUESTION 523 You have a switch called NK5-A configured with an NP_Port. Which switch feature on NK5-A uses

NP_Ports to allow for fabric expansion of new FC switches without having to designate additional domain IDs? A.    F-port channel

trunking B.    FCIP C.    NPIV D.    NPV Answer: D NetApp Certification NS0-506 certificate are those engaged in IT industry's

dream. You need to choose the professional training by Lead2pass NetApp NS0-506 dumps. Lead2pass will be with you, and to

ensure the success wherever you may increase pursuit your career. Let Lead2pass take all your heart, let the dream to reality! 

NS0-506 new questions on Google Drive: https://drive.google.com/open?id=0B3Syig5i8gpDYlBjaVlqYS0zbms  2017 NetApp

NS0-506 exam dumps (All 528 Q&As) from Lead2pass:  http://www.lead2pass.com/ns0-506.html [100% Exam Pass Guaranteed]
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